Seat No.:
No.

Enrolment

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-I1 (CtoD) * EXAMINATION - SUMMER ¢ 2014

Subject Code: C320003
Subject Name: Advance Mathematics
Time: 10:30 am —12:00 pm

Instructions:

Date: 23-06-2014

Total Marks: 70

1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option
Distance between point (3, 4) and (0, 0)is =
1L A 3 B. [4
C. |5 D. |6
If mid point joining two points A(2, 1) and B(4, 5) is M(3, x) then x=
2. TA ]2 B. |3
C. |4 D. |5
If A(3, 5), B(-1 3)and C(2, 2)are vertices of triangle then
3. |A | meA=90° B. | mz/B=90°
C. | mzC=90° D. | None of above
Slope of line passing through two points (1, —2) and (2, —4)is m=
4 TA |2 B. |1
C. |-2 D. [-1
X intercept of line 2x+4y—-6=0is
5. |A. |2 B. [4
C. |-6 D. |3
If m, and m, are slope of two perpendicular lines then m[m, =
6. |A |-1 B. |2
C. |1 D. [-2
Perpendicular distance between two lines 12x—-5y+5=0 and 12x-5y—8=0 is
7. A |2 B. [-2
C. |-1 D. |1
If two lines 2x+3y—1=0 and kx+3y—5=0are parallel then k =
8. |A |3 B. [-1
C. |-5 D. |2
If equation of circle is x* + y* —4x+6Yy—7 = 0then centre of circle is
9. |A (23 B. | (-2 3)
C. | (2 -3) D. | (-2, -3)
Equation of normal to the circle x* +y*—4x+2y+3=0 at point (1L -2)is
10. |A. | x—y-3=0 B. | x+y-3=0
C. | x-y+3=0 D. | None of above
If f(x)=3x*+2x+5 then f(0)=
1. 1A |3 B. |2
C. |5 D. |0
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If f(x)=x+land g(x)=x*-1then fog(x)=

12. A. X2—1 B. X2+1
C. | x? D. | None of above
If f(x)=logx then f(1J=

13 J

A () f(Y) B. | f(x)+f(y)
Co| f(x)=f(y) D. | f(x)=+f(y)
lim 2x2+x—3:

14, | =0 x=3
A. |0 B. |3
C. |2 D. |1
lim X2—2X+1:

15, ==t x-d
A |1 B. 0
C. |2 D. | None of above
. 10n2+2n—1
Iim ——— ~=

16. n—-—o 5n2 -3n+4
A | © B. |0
C. |10 D. |2
jim X =32=

17, | =2 X=2
A. |16 B. |5
C. |80 D. |2
lim ex+sinx—1:

18. | =2 X
A. |0 B. 1
C. |2 D. |3
lim 3sin X+5x _

19, | =2 2X—tan X
A. |0 B. |5
C. |3 D. |8
lim X =

20. x—0/9+x -3
A |9 B. |3
C. |6 D. |0
lim tan26':

21 6——0 @

A |1 B. 0
C. |4 D. |2
lim 3 ~L=
h—s0 N

22. A. |0 B. | h
C. |0993 D. |3

2
lim (1+§sz
x——0

23. A |2 B. |3

C. % D. 1
e
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lim
x——0 X
24. | A. 4 3
log, — log, —
Je 3 Je 4
C. | log,12 0
. tanx® _
li =
25, | =0 X
A. X 1
C 0 None of above
3 'n?
lim ZS =
26. | "—= N
A |1 0
C n 3
. Sin4dx _
lim =
97 | =0 tan 2x
A |4 2
C. |1 0
) 1 4
lim | ——-— =
x‘>2[x—2 X —4}
28. | A. |1 2
C. |4 1
4
If y=x®+2"then @
29, dx
A |0 3
C. |2 None of above
If y=sec® x—tan® xthen 9y
30, th
A |1 3
C. |2 0
If (x)=——then f (0)=
31 COS X
A. |0 1
C. |2 None of above
X dy
If y=3" then —=
32 dx
A | Bt 3“log3
C. |3 None of above
If y=XcosX then d_y:
33 dx
"I A. | 1-sinx —sinx
C. | cosx+xsinx COS X — XSin X
If y=x>+x*+x+1then y,=
A. |6 1
C. |0 None of above
34.
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If x= E , then —==
2 2 dx
A. B.
35. X _X
y y
C. y D. Ly
X X
If y=1log(cosx), then dy
36. dx
A. | cotx B. —cot x
C. | tanx D. | —tanx
) du
If u=x°, v=2x, then —=
37 dv
AL | X B. |-x
C. [-2x D. |2x
If y=3, then y,=
C. y (Iog 3)4 None of above
For function xy =0, d_y:
dx
A. X B. X
39. — -—
y y
C. y D. Ly
X X
dy
If y=Iloga", then —==
y =109 I
40. | A. n B. a
a n
C. | na D. | None of above
dy
If y=log,,x, then —=
y 010 dx
" A. 1 B. X
' xlog10
C. |1 D. | None of above
X
Maximum value of function f (x)=cosxis
2. A To B. [-1
C. |1 D. 10
Function f (x)has maxima at point x = x, If
3. || (x)=0 B 11" (x)<0
C. f " (X1) >0 D. | None of above
If equation of motion of a particle is s(t)=t>—6t*+8t—4, velocity at t =4 secis ___
44. | A. | 12m/sec B. | 8m/sec
C. | 12m/sec? D. |8m/sec’
If equation of linear motion of a particle is s(t)=t*—8t+5, velocityv =0at time t=__
45. | A. |4 sec B. 8 sec
C. |0 sec D. | None of above

4/13




I x3dx =

46. [A. |0 B. | x+c
C. | 3x%+¢ D. | None of above
I(cosx—3x)dx:

A. | sinx—-3+c B. in ¥ x e

47. log3
C. ) 3 D. ) x

—sinx— +C —sin X+ +C
log3 log3
Ilog xdx =

48. | A. | xlogx—x+c B. | xlogx+x+c
C. | —xlogx—x+c D. | —xlogx+x+c
j _12dx:

1+ X

49 -1 -1
A. | —cottx+c B. | costx+c
C. | cot*x+c D. | tan?x+c

! dx =
J1- %2
A. X —1 B. int
50 log sin™ x+c
X+1
C. | —sinx+c D. x+1
log—
X—-1
J'(tan x+cotx)2dx:

SL PA T —tanx+cotx+c B. | —tanx—cotx+c
C. | tanx—cotx+c D. | tanx+cotx+c
J'e3logde:

Al xP+c B. | X

52. 37C

C. | 3x’+c D. | x*
Z+c
4

1

_[2xdx:

53. |0
A |0 B. 1
C. |2 D. |3
I (sin x+tan x)dx =

54, | =
A |0 B. 1
C. |2 D. |3
2 sec’ x
I : —dx=__

5 COsec’x +sec’ X
55. |A. |« B. T
2
C. T D. T
4 8
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J. —_——x=_
56. 1 \/;+ 4—x
A |1 B. |2
C. |0 D. |3
J- xl de R
e +e
ST TA. | tan™tx+c B. | —tan"x+c
C. | tan™(e")+c D. | —tan™(e")+c
1
j 22X ax=__
o X +1
58.
A. | log2 B. [2
C. | —log2 D. | -2
Area of region bounded by y=0, y=2, x=y and Y —axis is
59. | A. | Ounit B. | 1unit
C. | 2unit D. | 3unit
Volume of solid generated by revolving region bounded by y = f,(x) and y = f,(x)
around X - axis is V =|I| where | =
60. | A ﬁj[{ f (x f, (x)}ﬂdx wnit | B |- ﬂj[{ f (x f, (x)}zjdx unit
C. ﬂ'j[{ f, (%)} +{f, (x)}z}dx unit | P ﬂj[{ fl(x)}2 f, (x)}szx unit
For information data 32, 26, 41, 35, 28, 42, 36, 40, 33, 42 Mean of Information is _
61. | A. |35 B. |355
C. |36 D. | None of above
For information data 8, 3,5, 12, 9, 14, 17, 1, 7 Median of Information is
62. |A. |8 B. |7
C. |75 D. | None of above
For information data 3, 2, 6, 5, 7, 3, 8, 10, 3,14 Mode of Information is
63. |A. |3 B. |2
C. |1 D. | None of above
For information mean is 1.43 and median is 1.32 then mode is
64. | A. |1 B. 1.1
C. |12 D. |09
For information 14, 18, 15, a, 19, 15, 12, 15, 16 mean is 16 then a =
65. | A. | 16 B. |18
C. |20 D. |22
For information 5, 7, 10, 13, 12, 6, 17 mean deviation from mean is
66. | A. | 4 B. |34
C. |3 D. | None of above
For information 11, 7, 9, 15, 13 standard deviation is
67. | A. |2 B. |3
C. |28 D. | None of above
Radius of circle x* +y?—4x+6y—12=0, is
68. |A. |4 B. |3
C. |5 D. |2
Angle between lines x+3y—2=0 and 3x—y+5=0,is=
A | ° B. | 30°
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If points (1, —1), (4, 5), (2, k)are collinear then k =
0. A, ]0 B. [-1

C. |1 D. |2

sl

ol. | Ust Aue [@Qscu

(g (3, 4) ual (0, 0) ARG} AR = 0.
. A 3 B. [4

C. |5 D. |6

(g0 A(2, 1) A B(4,5) A Blscll utvise] Heallelg M(3,x) &, Al x= _
LA ]2 B. [3

C. |4 D. |5

ol (g A(3, 5), B(-L 3)ual C(2, 2)AsQlott RQRALIgA &2t Al
3. | A | mzA=90° B. | mzB=90"

C. | mzC=90° D. | Guzuigll 8 ual o8l

(gl (1, —2) A (2, —4) 1l urR adl 2wl @l m=
A |2 B. |1

C. |-2 D. [-1

QUL 2x+4y—6=0 oll X — B}cAulS 8.
YA ]2 B. |4

C. |-6 D. [3

Al m vl m, A At WAL Bl Sl Al mm, =
€ 1A |-1 B. |2

C. |1 D. [-2

A U 12X -5y +5=0 Wl 12x—5y—-8=0 cAs] Aol AR 0.
9. 1A |2 B. [-2

C. [-1 D. |1

ol A VUM 2x+3y—1=0 WA kx+3y—-5=0 AHicR sl Al k=
¢ [A |3 B. |-1

C. |[-5 D. |2

B X +y?—4x+6y—7=0 ddne] AHlswL sl Al ddie] Sos O,
¢. |[A (23 B. [ (-2 3)

C. | (2 -3) D. | (-2 -3)

aAdn x?+y? —4x+2y+3=00ll (olg (1, —2)Adlaell Al@cios] axllsRel 8.
0. | A. | x—-y-3=0 B. | x+y-3=0

C. | x-y+3=0 D. | Guauiall 818 ugl &l

ol f(x)=3x"+2x+5 Al f(0)=

A B. [2
qq. | C 5 D. |0
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ol f(x)=x+1 U g(x)=x*-1 Al fog (x)=

.| A | x* -1 B. | x2+1
C | x D. | Guauigll 18 unl «1&l
sl f (x)=log x dl f(%j:
13. A B
f(x)f(y) f(x)+f(y)
C. | f(x)-f(y) D. [ f(x)+f(y)
lim 2X2+X—3:
Qy. [0 x-3
A |0 B. |3
C 2 D. |1
lim x2—2x+1:
x—1  x-1
q.'l‘l. A. 1 B. 0
C. |2 D. | Guniel A8 ual <18l
lim 1On2+2n—1:
qe. n——w® 5n° —3n + 4
A. | © B. 0
C. |10 D. |2
lim X =32
o, [ 1—=2 X=2
A. |16 B. |5
C. |80 D. |2
lim ex+sinx—1:
e f—_ X
A |0 B. 1
C. |2 D. |3
lim 3sin x+5x:
x—0 2X —tan X
Qc. A 10 5 :
C. |3 D. |8
lim % =
20, | 0N+ X3
A |9 B. |3
C 6 D. |0
lim tan26 _
——0 @
1. A1 9 5
C. |4 D. |2
lim 3 1=
h——0 h
. A 10 B h
C. | log,3 D. |3
2
lim [1+§jx:
23, L 3
A |2 B. |3
C. e% D. |1
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lim
Xx——0 X
¥, | A 4 3
log, — log =
Je 3 Je 2
C. | log,12 0
. tanx® _
li =
x——0 X
A T x 1
C. 10 GuzHigll 818 ual «dl
3N 'n?
lim 23 =
kg, [ 0= N
A |1 0
C. |n 3
. sin4dx
IImotaan_
8. X—
? A |4 2
C. |1 0
. 1 4
lim | ——— =
x—»ix—z X —4}
RCPA L 2
C. |4 1
4
R y=x+2* A Y=
dx
e A To 3
C. |2 GuzHigl 818 ual o8l
%l y=sec’x—tan®x cll a_
30 dx
A |1 3
C. |2 0
X
o f(x)=——  f (0)=
(x) COS X (0)
31. A 0 1
C. |2 GuHigll 818 ual o8l
R y=3 A V-
dx
ST LA | xBt 3*log3
C. |3 GuHigll 818 ual o8l
%l y=xcosx cl 9y
33 dx
"1 A. | 1-sinx —sin x
C. | cosx+Xxsinx COS X — XSINn X
W y=x"+x>+x+1cl y,=
A. |6 1
3%. =10

GuHiell s1e5 uwl «18l
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gl x_E te ’ e —e ’cnd_y_
2 2 dx
A. X B. X
3\. = _X
y y
C Yy D. Ly
X X
dy
o y =log(cosx), dl &:
9t A. | cotx B. | —cotx
C. tan X D. —tan x
o u=xv=2x, cl du_
39 av
“TA | X B. |-x
C. |-2x D. |2x
o y=3, Ay=_
3¢. x(log3)° y
C. | y(log3)’ D. | Guruiell 818 Ul «18l
QB2 xy=00j [@Ascllct %:
X
A. X B. X
3¢. — -
y y
C. |y D. | vy
X X
ol y=loga", cl ay_
dx
wo. |A D B la
a n
C. | na D. | Guniell 8 ual <18l
dy
o y=log, x, Al 2=
y =109,, ax
A. 1 B. X
ot x10g10
C. |11 D. | Guzuiell 8 ual o8l
X
(A8 f (x)=cosxoll HetH (Bud
A0 B. [-1
C. |1 D. [10
(@82 £ (x)oll (g x=x, el HettH (Brd w2 alaL.
¥3. | A | £ (x)=0 B 17 (x)<0
Col ' (x)>0 D | Gurniell 818 ugl «1él
ol UeLdetl oUAe] ux{lsR0Ls(t)=1t>-6t* +8t -4 82, Al t=4 sec WU AN ___
A. | 12m/sec B. | 8m/sec
€1 C. | 12m/sec? D. | 8m/sec?
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ol Ueldetl oUAof uxllsR@L s(t) =12 -8t +5, A v=05la > umal t =

¥UYU. | A. | 4 sec B. |8 sec
C. | 0sec D. | guauigll 818 uel «él
Ix3dx:

¥e. |A. |0 B. | x*+¢
C. | 3x*+c D. | Guzuiell 8¢ ual 8l
j(cosx—BX)dx:

A. | sinx—-3+¢ B. in x ‘e
¥9. log3
C. _ 3 D. . X
—sinx— +C —sin X+ +C
log3 log3
Ilog xdx =

¥C. | A | xlogx—x+c B. | xlogx+x+c
C. | —xlogx—x+c D. | —xlogx+x+c
Jee

v 1+x

e TA T Zcottxtc B. | costx+c
C. | cottx+c D. | tan'x+c
J 1 dx =

J1- %2
A. X —1 B. int
wo. log|* =2 sintx+c¢
X+1
C. | —sinx+c D. x+1
log—
x-1
I(tan x+cotx)2dx:

Y. A [ —tanx+cotx+c B. | —tanx—cotx+c
C. | tanx—cotx+c D. | tanx+cotx+c
J'e3logde:

A | x¥+c B. | ¥
uz, 3¢
C. | 3x*+c D. | x*
Z 4c
4

1

_[Zxdx:

Y3. |0
A. |0 B. 1
C. |2 D. |3
I(sin X+ tan x Jdx =

wy. | A |0 B. |1
C. |2 D. |3

11/13




sec® X

3
I : —adx=
0 cosec ™ Xx+sec” X
yu. |A |7 B. | »
2
C. T D T
4 8
3
I 4—X Ix =
we, | 1Vx+a-x
A |1 B. [2
C. |0 D. |3
J gt
—X X X_—
e " +e
WO A | tanTtx+c B. | —tanx+c
C. tan‘l(ex)+c D. —tan‘l(ex)+c
1
S
o X°+1
ue.
A. | log2 B. |2
C. | —log2 D. | -2
y=0,y=2 x=y ol Y-uel dl QRAAcll y&alsf axnsn 8.
ue. | A | oAsu B. |1Asu
C. |2asu D. | 3asu
y=f(x) Ul y=1,(x) A QAAA Yol X - uetoll 1Yoy YHlcldl ool
tot uetsloj U301 V =||| U | =
0. | A ﬂj[ )} }dx UsH B._ 72.[[ )} de UsH
c. ;zj[ ,(X)} }dx Asu | nj[ () de E
HUR Aot %{qcﬂ&:ﬂ 32, 26, 41, 35, 28, 42, 36, 40, 33, 42 5{&{ <ﬂ S
eq. |A. [35 B. [355
C. |36 D. | Guniell 8 ual <18l
e dloll waclsa 8, 3, 5,12, 9, 14, 17, 1, 7 8l Al HRRARY
ex. A [8 B. [7
C. |75 D. | Guzuiell 88 ual «tél
HU@Alotl AHaclsal 3,2, 6,5,7,3,8,10, 3,14 8l Al GlgAs
£3. A [3 B. |2
C. |1 D. | Guzuiell 8l ual «tél
ol HUEAlN Htaus 1.43 ual HARU 1.32 8l A 0§
€. [A. |1 B. [1.1
C. [1.2 D. |09
Bl HU@cAlotl A sall 14, 18, 15, a, 19, 15, 12, 15, 16 oll H2US 16 Al a =
L. A 16 B. [18
C. |20 D. |22
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€€,

B HU@clotl AacAlsall 5,7, 10, 13, 12, 6, 17 Sl Al Heasl el [Qudst

A

4

B.

3.4

C.

3

D.

GuRHil 818 ual otél

€9.

Bl HURAlotl AaAsal 11, 7, 9, 15, 13 lal Al YHIQld (LAt

A.

2

B.

3

C.

2.8

D.

Guniell 818 ual «tél

ddn x?+y?—4x+6y—-12=0 ol A2

gC. A |4 B. 3
C. |5 D. |2
A QR x+3y—2=0 Wl 3x—y+5=0, ARl YR =
C. |45 D. | 90°
B [AgA (1 -1), (4, 5), (2, k) WRw 8l A k=
90. [ A 0 B 1
C. [1 D. |2

*khkkkikkkkihkkkikk
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